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/< wuywunudp
hwjwnbp hwjwnbp hwdiwnnun ujwpwqgpnypniu
/hwdwywwnwufuwubnt | /shwdwwwnwufuwubing
nbwpnud gk “X”/ nbwpnud uoby “X”/
1 «UU» Une X
X
2 «Uwgpu Shu» UMC
3 | «9uwp9phg» UMC X
4 «Eyndhpu» UMC X
5 Enhy UnLpGuh X
AwuhbGywl U2
Cunpjwsé
dwutiwlhg Uwutwlygh wnwowpywé
UwutwlhgUbiph Uwutiwlgh /punpywd | qht wnwig UU&-h <<
qpuntgpué
nbnk wuyjwuntdp dwutwygh npwd
1ro hwuwpn ok
“x"/

1 «Uu» ume X 112,250

2 «Uwpu Shu» UMC 112,600

3 «Quwp Qnphg» UNC 117,500

4 «Eyndhpu» UNC 123,600

EnphYy UnLptup
> TFwlhGywl UQ 138,000
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1 «UU» umne X
X
2 «Uwgpu Ghu» UNC
3 «Quwn QGnhg» UNC X
4 «EYndhpu» UNC X
5 Enhy UnLpBuh X
QwlhGywlu UQ
6 | « UGd ochwowUu» UNC X
7 Lnphy 3wynpowljwl X
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1 «UU» ume X 236,250
2 «Qwn Anphg» UMC 237,500
Lnphy
3 Swynpowljwl UQ 250,000
4 «Eyndhpu» UMC 255,500
5 «Uwipu Shu» UMC 267,000
« Ukd ohwowUu»
6 umpe 275,000
Enphy UnLpblh
7 FwlhGywl UQ 318,500
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1 «Quwn QGnhg» UNC X 82,500
2 «Eyndhpu» UNC 85,800
3 «UuU» umne 89,250
Lnphy
4 Swynpowlywl U2 90,000
5 «Uwgpu Ghu» UNC 113,000
Enphy UnLpBlh
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1 «EYyndhpu» UMC X
2 «UuU» umne X
3 «Quwp Qphg» UNC X
4 Lnphy 3wynpowljwl X
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1 «Eyndhpu» UNC X 49,200
2 «UU» ume 49,500
3 «Quwp Qnhg» UNC 50,000
Lnphy
4 Swlynpowlyjwl U2 25,000
5 «Uwepu Ghu» UNC 71,000
« Ukd ohwowUu»
6 umne 75,000
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7 Awilhbywl UQ 79,100
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nbwpnud gk “X”/ nbwpnud ugby “X”/
1 «Quwp Qphg» UNC X
2 «Uwpu Ghu» Une X
X
3 «UnU» ump
X
4 «EYyndhpu» UMC
5 EphYy Uniptluh X
AwlhGywl UQ
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1 «Qwpn Qnhg» UNC X 91,667
2 «Uwepu Ghu» UNC 92,000
3 «Uu» ume 93,167
4 «EYndhpu» UMC 97,900
Enphy UnLpbluh
> Qwlhbywl U2 112,000
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